

Market Value Summary:

	Current Period	Year to Date	
Beginning Balance	\$7,937,407.84	\$7,550,325.05	
Contributions	(\$0.17)	(\$0.17)	
Withdrawals	\$0.00	\$0.00	
Transfers In/Out	\$0.00	\$0.00	
Income	\$5,961.02	\$21,298.94	
Administrative Expense	(\$108.52)	(\$627.99)	
Investment Expense	(\$173.59)	(\$1,674.44)	
Investment Manager Fees	(\$9.01)	(\$286.27)	
IFA Loan Repayment	\$0.00	(\$5,954.23)	
Adjustment	(\$588.08)	(\$588.08)	
Realized Gain/Loss	\$23.20	\$2,525.83	
Unrealized Gain/Loss	(\$111,726.21)	\$265,767.84	
Ending Balance	\$7,830,786.48	\$7,830,786.48	

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	5.05%	06/24/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

PLANO POLICE PENSION FUND

Fund Name: PLANO POLICE PENSION

Month Ended: May 31, 2023



\$0.000000

Market Value Summary: Unit Value Summary: Year to Date Current Period Year to Date Current Period Beginning Balance \$0.00 \$0.00 **Beginning Units** 0.000 0.000 Unit Purchases from Additions Contributions (\$0.17)(\$0.17)0.000 0.000 Withdrawals \$0.00 \$0.00 Unit Sales from Withdrawals 0.000 0.000 Transfers In/Out \$0.17 \$0.17 **Ending Units** 0.000 0.000 Income \$0.00 \$0.00 Administrative Expense \$0.00 \$0.00 Period Beginning Net Asset Value per Unit \$5.217032 Investment Expense \$0.00 \$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

Period Ending Net Asset Value per Unit

Performance Summary:

Investment Manager Fees

IFA Loan Repayment

Realized Gain/Loss

Unrealized Gain/Loss

Adjustment

Ending Balance

PLANO POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	06/24/2022

\$0.000000

PLANO POLICE PENSION FUND

Fund Name: IF

IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$7,937,407.84	\$7,550,325.05
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$0.17)	(\$0.17)
Income	\$5,961.02	\$21,298.94
Administrative Expense	(\$108.52)	(\$627.99)
Investment Expense	(\$173.59)	(\$1,674.44)
Investment Manager Fees	(\$9.01)	(\$286.27)
IFA Loan Repayment	\$0.00	(\$5,954.23)
Adjustment	(\$588.08)	(\$588.08)
Realized Gain/Loss	\$23.20	\$2,525.83
Unrealized Gain/Loss	(\$111,726.21)	\$265,767.84
Ending Balance	\$7,830,786.48	\$7,830,786.48

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	796,123.003	796,123.003
Unit Purchases from Additions	0.000	0.000
Unit Sales from Withdrawals	(59.002)	(59.002)
Ending Units	796,064.001	796,064.001
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

PLANO POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	5.37%	07/01/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

PLANO POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
PLANO POLICE PEN	SION				
05/25/2023	05/26/2023	Transfers In	0.17	5.217032	0.0326
05/25/2023	05/26/2023	Contribution	(0.17)	5.217032	(0.0326)
Transition Pool					
05/25/2023	05/26/2023	Transfers In	0.17	8.919671	0.0191
05/25/2023	05/26/2023	Transfers Out	(0.17)	8.919671	(0.0191)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(588.08)	9.970077	(58.9845)
05/25/2023	05/26/2023	Transfers Out	(0.17)	9.820810	(0.0173)